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=] i B MrEs| Bl | 2 | %8 = | £8 [HE| €8 &%

9A1H FHR ) 600| 115 69,000 41| 24,600 74| 44,400
I i 500 77 38,500 36/ 18,000 41| 20,500

Sl S d S 200] 116 23,200 37 7,400 79| 15,800

9A2H FHR ) 600 42| 25200 0 42| 25200
Bl Bt 500 13| 6,500 0 13 6,500

9A3H FHR ) 600 69| 41,400 56/ 33,600 13 7,800
9A4H Sl S d S 200 72| 14,400 28 5,600 44| 8,800
9A5H — e LXE) 400 46| 18,400 0 46 18,400
BH R i 500 43| 21,500 37| 18,500 6 3,000

9A9H — e BB 43t 400 15 6,000 15 6,000 0 0
BH R i 500 28| 14,000 28| 14,000 0 0

Sl S d S 200]  120| 24,000 83| 16,600 37 7,400

9A10H |#HR ) 500 28| 14,000 0 28| 14,000
9A11H |#HR ] 500 41| 20,500 0 41| 20,500
AR AY| B EH# | 300  210| 63,000 90| 27,000 120 36,000

98128  |=+iHie LXE) 400 19| 7,600 0 19 7,600
S=hTh Fx 200 95| 19,000 66/ 13,200 29 5,800

9A168 |S=k<H(ER) R 200 30[ 6,000 21 4,200 9 1,800
S=hTh Fx 200| 218 43,600 63| 12,600 155 31,000
AR AY| BEH# | 300  119] 35,700 61] 18,300 58| 17,400

HEI=E R 600 96| 57,600 52| 31,200 44| 26,400

9A18H |HEDO= Rt 600 35| 21,000 0 35| 21,000
9A198 |##kfaEE& (A= 200 32| 6,400 0 32 6,400
S=hTh Fx 200 93| 18,600 0 93| 18,600

HhEJ= Rt 600 31| 18,600 0 31| 18,600

98228 |##kfaEE = 200 14| 25800 0 14 2,800
S=hTh Fx 200| 125 25,000 99 19,800 26 5,200

FARE— EE 200 30[ 6,000 0 30 6,000

9A258 |S=k%hk S5 200] 122 24,400 63| 12,600 59| 11,800
9A26H |#i#kfaEE = 200 13| 2,600 0 13 2,600
MHR15 R 600 50 30,000 0 50( 30,000

HX Bt 700 58| 40,600 0 58| 40,600
SZRYRER) R 200 28| 5,600 0 28 5,600
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HR5EH m B MirEs| Hifl | 82 | % H=E| £ ([BE| €8 &%
FARE— it 200 22| 4,400 0 22| 4,400
9H29H [HX R 700 44| 30,800 44| 30,800 0 0
Sl S d B 200 81] 16,200 52| 10,400 29 5,800
T RE— (A3 200 1 200 0 1 200
9A30H |#HifkfaRE (A3 200 22| 4,400 16 3,200 6 1,200
TFRE— =3 200 22| 4,400 13 2,600 9 1,800
&t 2.435| 831,100/ 1,001] 330,200| 1434| 500,900




